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Public Administration
Paper III

weh 99T
PEECIECAEIN

Time Allowed : 2% Hours]
Note : This paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

carrying Two (2) marks. Attempt A/l questions.

U SRd. @E U Wi

A ¢ A YIAUEhA THUT Uaeer (75) SguaiE WA foeiel Sfed. Foeh SR e (2)

The nature of Development
Administration is different from
traditional administration. (Choose

the odd man out) :

(A) Structural and function

similarity
(B) Goal-oriented and innovative

(C) New techniques and new

attitudes
(D) Citizen participation

The concept of Development

Administration used after ...........
(A) First World War

(B) Second World War

(C) Mayo’s Resolution

(D) Riggs concept

1.

fowm wymEa emfor URuRes gemd-

ATde W (TTeade! gahid 3T

faer)

(A) TEATeHE  eArfur wTafeHe

(B) ==y enfor et
(C) 7o o= 3Tfo &A st

(D) A HUT

TRl et

(A) 999 eIl
(B) fsdfa werga
(C) #r= i

(D) fosr=n deeu
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The political system in under-

developed countries can be divided

into :

(A) Traditional autocracy system

(B) Dominant party mobilization

system

(C) Non-communist system

(D) Autocratic elite system

Who considered differentiation and

integration as two key elements in

the process of development ?

(A) Panandikar

(B) Neal F.W.

(C) F.W. Riggs

(D) Milton

JAN - 21318/III—B

Afgehfaa USTHENE TSTh1d ST

EATAYHOl fITTell §1% 9ehd

(A) IRURE THAME =ewen

(B) a3 U8 HidYaul HaEd

(C) ToR gr=erst =gewen

(D) THIME! ATYSH Haeen

fasmTd Ufmaasd AATRT0T AT

THICHHRTOT B SF Hewolqul ®eeh 3Ted

Y AU AA B ?
(A) TR

(B) TH.3=d. -
(C) The=g. o

D) faeea




Assertion (A) and Reason (R)

pattern :

Assertion (A) : The concept of
Development Administration is used

in two interrelated senses.

Reason (R) : The administration
of development and development of

administration are intertwined.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) 1is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JAN - 21318/III—B

fagum™ (A) s7for &Rl (R) 99

faeam (A) : o™ g9smEa Hehed 1 H

TS e dTalcl 3Te.

&HRUT (R) : fasm@m= yymad effor

R foehme TR el 3TTeal.

K3 -
-
.

(A) (A) 9 (R) &l SR 3TRd (o7

(R)  (A) 3 STIF TISHI

Sl

(B) (A) 37T (R) TIgt sIeR 3TTed, 0q
(R)  (A) 9 STgH TISHI
BIG|

(C) (A) T=X 3, WY (R) & Ih
Sl

D) (A) T IF 3%, WG (R) T SN
3T
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Assertion (A) and Reason (R)

pattern :

Assertion (A) : Importance of the
Cabinet Secretariat is due to
expansion in the scope of

government.

Reason (R) : Advancement of

technology has resulted in creation

of government agencies.

Select the correct answer from the

codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JAN - 21318/I1I—B
faum (A) sfr R (R) 91 ¢

Taem (A) : YA HRIfSRARS Hhad

gfeare™e Hew e 3.,

SRUT (R) : A0 fow™Mes ITHhE
STty fAfHdT g

arell feeean FehdieHEd drea qa

- -
-
.

(A) (A) 9 (R) S IR 3Ted 3TIUT

(R) T (A) T TgH TAHI]
e

(a

(B) (A) 9 (R) TGI SRR Ted, T

(R) B (A) @ 3Tgh TUSIHIT
BIE]

(C) (A) T TR MR, g (R) & I+
3T

(D) (A) § I 3T, Wg (R) § SR
3T




Who has recommended that “The
Cabinet Secretary should be an
administrative officer of the highest

rank” ?

(A) Chester Barnard

(B) N. Gopalswami

(C) Gulick

(D) Woodrow Wilson

Who of the following is the first
line supervisor in secretariat

hierarchy ?

(A) Secretary

(B) Deputy Secretary

(C) Additional Secretary

(D) Secretariat Officer

JAN - 21318/III—B

“were el @ ved URET
YR SRR s’ & R
g w2

(A) T T

(B) . TirererH

(C) T

(D) LI faee

GiaaTe=ie Teqqd JIH T gHa e

WeTAsh] hI0T TEAr ?

(A) wfd

(B) 39df=a

(C) AfaRea gfaa

(D) Gfearedi= St
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10.

The rules for transaction of business

of Government of India are made

(A) President

(B) Prime Minister

(C) Parliament

(D) Secretariat

‘Academy Board’” of Sardar

Vallabhbhai Patel National Police

Academy is headed by :

(A) Home Minister

(B) Home Secretary

(C) Minister of Human Resource

Development

(D) Secretary of Human Resource

Development

10.
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T LA °¢|°|‘5I{i®|l®|€|‘;| IRRE

gR i sl Srard.

(A) TSI

(B) GemEs

(C) 95

(D) Hfeered

TER JeaaE Ted U ey

o ‘¢ a ot N
SnlgHITAl  SHonlgHI Hsowl™ HAFENG %

quferdid

(A) T8 =

(B) T wi=a

(C) \a goeA faemg wi

(D) HHe goeE faeR afed




11.

12.

The State Chief Secretary does not

act as :

(A) Principal Advisor to the Chief

Minister

(B) Principal Advisor to the

Governor

(C) Secretary to the Cabinet

(D) Secretary to the Chief Minister

Citizen charter, in India, ensures in

administration :

(A) Quality approach

(B) Flexibility

(C) Impartiality

(D) Uniformity

11. TS 9@ |iEd

12.
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Fa -

(A) == U@ AR

(B) TSIURTE THE HeolF R

o 0 o

(C) hdlHed Hiad

(D) Jeaw=A A

(A) TUer gfteehion

(B) waf=ehal

(C) Ve farfedar

(D) Uehdddl/TUesh &Yl
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13.

14.

Match List I with List IT and select
the correct answer from the codes
given below :

List I
(a) Governor
(b) Council of Ministers
(¢) Duties of Chief Minister
(d) Legislative Council

List II
(1) Article 167
(2) Article 169
(3) Article 155
(4) Article 163
Codes

(@ (o0 (d

A @ (2) 3) (4)
B @ 3) (2) (1)
< O (2) (4) (1)
D) 3 (4) (1) (2)

It lays down the full blueprint of
personnel processes :

(A) Executive Decisions
(B) Administrative Rules
(C) Constitutional Provisions

(D) Manpower Planning

13.

14.
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Tt g=t 19t g 11 Sesen 3ATfom
et feaed Sehdaiemgd A 3T
ferer -

Tt 1
T
wft i
AT i
faet ufteg
Tt 11

=R 167
TR 169
3= 155
TR 163
Hehdich :
(a)
(1)
(4)
3)
(3)

(a)
(D)
(o)
(d)

()
(2)

3)
(2) 4 @)
4) L @)

N ¢
T T/ FHART Ulshara
SHfaY WRT H.

(A) wEeRt fuig
(B) WIehig =M

(C) HeTcHeh Tdal

(0
3)
(2)

(d)
(4)
(1)

(D) HI=ees TS
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15.

16.

17.

Even a brilliant training cannot

repair a faulty :
(A) Recruitment
(B) Placement
(C) Procedure
(D) Organization

Morale is improved by the concept

of :

(A) Authority

(B) Hierarchy
(C) Teamwork
(D) Accountability

The focus of performance appraisal

is on :

(A) Professional Accomplishments
(B) Personal Accomplishments
(C) Performance Skill

(D) Value attitudes

15.

16.

17.
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I ARSI ST Il Srore

qEW HE Thd ATEL.

(A) ST
(B) TEWT

(C) I
OBSEIES

.
(A) e Ry
(B) Sforer afge

(C) Treures T

(D) qea Hait
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18.

19.

Which one of the following is not a

challenge before local rural

government in India ?

(A) Financial support

(B) Law and order

(C) Access to marketing outlets

(D) Promotion of agricultural

research

The number of demands in General

Budget for civil expenditure is

(A) 109

(B) 106

(C) 103

(D) 102

18.

19.

JAN - 21318/III—B

TR Tq1eh UTHOT IR

EATeTdeh! hIUd 3fTegM ATl ?

(A) foxia MR

(B) <hracl STIfUT geHaeen

(al

(C) STSTRYSH

SHASYASHT

(D) F GINEAE 9

A TS GAETRo STHehedrd fohd

HATOT 3Hdd 7

(A) 109

(B) 106

(C) 103

(D) 102

12



20.

21.

Which of the following is not true
about Comptroller and Auditor

General of India ?

(A) CAG is appointed by the

President

(B)

He enjoys the security of tenure

(C) He can be removed by the

President of his pleasure

(D) His salary is charged upon the

Consolidated Fund of India

A new office of the Comptroller
General of Accounts (CGA) has been

created as a part of :

(A) The Department of Economic

Affairs
(B) The Department of Expenditure
(C) The Department of revenue

(D) The Department of Financial

Services

20.

21.
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ETATAdeh] hIVd WRaren s 9

eI afehT=aT aredid 9o Aral 2

(A) F=t e TeudgR B

(B) 9 Hrihler= qran fHesd

(C) TIE TLUdr= T=1 geladl I

BETS

(D) vRaren Gfed fefqm @@= o
=

=~ o b o £
HETTEIT-TTHAh T T hATTH ATl 9T

WA v w0AE STl 3TR

(A) 3Tfefer =qagr faum

(B) =73 faum

(C) Hega faum

(D) fa=ita e faum

13

[P.T.O.



22.

23.

24.

Who made the first use of sample

testing in Social Science ?
(A) Charles Booth

(B) P.V. Young

(C) M.L. Bowell

(D) Frank Yatan

Which type of research faced the
problem of finding appropriate

primary sources ?

(A) Descriptive research
(B) Explorative research
(C) Experimental research
(D) Historical research

What do you call for the subsect
of a larger population in social

research ?
(A) Society
(B) Sample
(C) Community

(D) Group of peoples

23.

24.

JAN - 21318/III—B

1 faaREar T A=

9y 99gH HIle\flchk’Il%ﬂld °|\0('II.
(A) =T 99

(B) =gt =

(C) TH.UH. et

(D) ek IreA

HITTAT GhIAT GYNEAHE AT
Tt WEAE WY A S
Fqd ?

(A) IUATHF HNeH
(B) SlemIfed wene
(C) vrifiTer Semed
(D) Uferfaes Henem

i Weha &=l STUHEH  HHISh

GINEAME A0 HE RBUl 2
(A) 9H
(B) |

(C) HHq™
(D) Rl T

14



25.

26.

27.

Secondary sources of data collection

include :

(A) Interviews

(B) Radio Appeals
(C) Rare Manuscripts
(D) Questionnaires

This is a list of questions called
schedule used by the investigator for
measuring attitudes, opinions and

behaviours :

(A) Observation schedule

(B) Document schedule

(C) Rating schedule

(D) Evaluation schedule
Consider the following statements :

(1) Schedule XI contains 18 subject

of Panchayat jurisdiction.

(2) Schedule XII contains 29

subject of Municipal jurisdiction

Which of the above statements is/

are correct ?

(A) Only (1) is correct

(B) Only (2) is correct

(C) Both statements are correct

(D) Both statements are incorrect

25.

26.

27.

JAN - 21318/III—B

T Hha T THH EAHE
= THEST Bl

(A) Hearerd

(B) SARITETUGR  3TeT8

(C) TAY T

(D) eATEt

ST BT WA T STHAT S HLNERIGR
AT, T SATOT ST AOATEIS! STANT
ST STl

(A) Tieror srge=i

(B) SEUES Y

(C) =rfaml/groft STTE=!

(D) oI9S

L0 I e G e )

(1) uRfyre 3Ry e 313y fawa g=mea
AT

(2) TR IRmey TR fas
HeraTfeTeht &S

Ul wUK foum w& R ?
(A) ®d= (1) 9A

(B) %= (2) 9A

(C) T=RE faum &

(D) =l faum st

15

[P.T.O.



28.

29.

In the wake of 73rd and 74th
Constitutional Amendments, the
development role of the Collector has

become

(A) Very powerful
(B) Ceremonial
(C) Motivational

(D) More accountable without

power

Which of the following pair is not

correctly matched ?

(A) District Collector is Chief
Executive Officer of ZP : Odisha

(B) District Collector 1is the

Executive Director of DRDA :
Andhra Pradesh

(C) DRDA 1is wunder District
Collector : Maharashtra
(D) The Collector plays very crucial

role in the execution of welfare

programmes : Rajasthan

28.

29.

JAN - 21318/III—B

73T 9 74 HAgEyH fSew-

foerrar=ll fosrmrdial gfert

(A) 3feer SrfeRma™

(B) HchrEid

(C) AFYToTETR

(D) sifeemrmifyTeTa Sty STREEt

ETeeTdeh! I SIET SaR o
S LE

(A) erifasrt =1 fSegr afive=n ge
FEHR AR 3R : effesm

(B) fSeeiieesi =1 TSl urHior faehm
AT HERH FOTAS AR :
YIS

(C) T o fosm ==on fSieer-
foepra STl oTe @ HeRIS

(D) AT HIAHATAT  STHATS -

ouild TSeRTieeh il Hewemsl  YfHeh

geadl ; ST
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30. Assertion (A) and Reason (R)

pattern :

Assertion (A) : In Indian
Administration the tent is mighter

than the pen.

Reason (R) : To impress on the
collector the necessity of field visit
to meet the people in their normal
surroundings and to see things for

himself.

Select the correct answer from the

codes given below :
Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JAN - 21318/III—B

30. faam™ (A) 371 &R (R) W&

faeam (A) : YR IRTEAT eI e
T ferh WA SR

o o

< IUT (R) : TSIeRIl

AT ST A=A

e TR S 920 & O A

ST d TeI& 3TN0 R HEw= 3TE.

TTelel Fehdiehiqd ava 9419 faer .
SO

(A) (A) 9 (R) <=l s{IsR 3R 37101

(R) T (A) o T TIRH TR

(B) (A) & (R) 38! s ed, W

(R) T (A) ¥ 3T TI=IHI0 el

(C) (A) SR 318, 907 (R) B = 378

D) (A) & I 3@, 907 (R) B SN
3]

17

[P.T.O.



JAN - 21318/III—B

31. What is right chronological order of | 31  wrqdier AT goaEsieh 279m Hoal-

commissions and committees

e faftfa afaen 9 s Fetshd
studying for various urban issues in
e ?
India ?
(1) Royal Commission  on (1) fahgreomeradet JIa wHEH
Decentralization @) Tonfis ImEAEEEE dufre
(2) Statutory Commission on local e

self government
(3) TfTeh Y o TR EAESE

(3) Taxation Enquiry Commission

ENEEpCC Ica At

on local taxation and local

government (4) e o= enfies sTeaEEE=

(4) Lord Ripon’s resolution on local GG

self government

A) (1), (2), (3), 4)
A) (1), (2), 3), 4
(B) (4), (3), (2), (1)
(B) (4), (3), (2), (1)

(C) (3), (2), (1), (4) (€) (3), (2), (1), 4)

(D) (4), (1), 3), (2) D) (4), (1), (3), (2)

18



32.

33.

34.

What do you call for the process of
transforming social policy into social

services ?

(A) Social Welfare Administration
(B) Social Service

(C) Social Security Schemes

(D) Development Administration

Under the Constitution welfare

is a :

(A) Union subject

(B) State subject

(C) Concurrent subject

(D) Residuary subject

The concept of Social Justice finds
a mention in the Constitution under

articles :

(a) 38

b)) 39

(o 40

(d) 43

Codes

(A) (a) and (D)

(B) (a), (b) and (o)

(C) (a), (b) and (d
D) (a), (b), (o) and (d)

32.

33.

34.

JAN - 21318/III—B
[T IR AT Hamed gRafaa
HOIAT Gihdel S WU ?
(A) TS HeATo G
(B) HHN &l
(C) wHIfSTeh FI& ASH
(D) formE gemEA

TSTEEqE AlhahedIol &l
(A) 5 oo

(B) =g fae

(C) HHerdt faor™

(D) STafyrse/IenfEepr oo™
o9 HHISG Al Heheq T

(a)
(D)
(0
(d)
m :

(A) (a) = (D)

(B) (a), (b) W (o)
(C) (a), (b) 0 (d)
D) (a), (b), (o) 0 (d)

19
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35.

36.

37.

Which of the following is not a target
group of the Ministry of Social

Justice and Empowerment ?
(A) Senior Citizens

(B) Transgender

(C) Beggars

(D) Labour

In some countries the term NGO is
applied to an organization that in

another country would be called

(A) Development organisation
(B) Non-profit organization
(C) Welfare organization

(D) Social organization
Public Policy is a :

(A) Discrete Decision

(B) Pattern of Activity

(C) Interest Aggregation

(D) Interest Articulation

35.

36.

37.

JAN - 21318/III—B

WIATAYSh! hIOAT FES: =g 3T
TEHIHIT AT AT-TE ATl ?

(A) U3 ArReR
(B) qag geft
(C) fusrd

(D) =R

20



38.

39.

Put in order the following stages of
Public Policy :

(1) Policy Education

(2) Policy Interpretation
(3) Policy implementation
(4) Policy formulation
Codes

(A) (4), (2), (1), (3)

B) (D, @), (2), 3)

) (D, (2), @), 3)

D) (2), (4), (3), (1)

Match List I with List II and select
the correct answer from the codes
given below :

List I
(a) Elite Model
(b) Systems Model
(00 Neo-institutionalist model
(d) Incremental model
List II
(1) Concept of information theory
(2) Preserve the status quo

(3) Conservative tendency in policy
making-decision

(4) Four Arenas of Power
Codes

@ (b (o0 (d
A (2 (1) (4) 3)
B) @ (3) (2) 4)
(S)INE) (4) (1) (2)
D) @ (2) 3) (1)

JAN - 21318/III—B

38. WESTeh YR TUATH SHATER HSUT
{0 e

(1) &ror ferero

(2) €RU sraened
(3) €Ul AN
(4) oo i
O

(A) (4), (2), (1), (3)
(B) (1), (4), (2), (3)
(C) (1), (2), 4), (3)
D) (2), (4), (3), (1)

39. T L ¥t Ff 11 o Jeoar Mfor fereresn

Heharhigd ard I e

T 1
(a) os3eM 9&d
(b) I GIE&q
(0 Ta-GEAERI Y&
(@ SAvggE g&d

T 1T
(1) wfed! fagrare Hehed
(2) FTiEerdt e
(3) #RU FMERUIde ®eaR! Fox
(4) TU=E IR &=
Hehdich :

(a (b (o (d

a @ O @ 3
B O & @ @
©c 6 @ @O @
® @ @ G @
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40. Who is the first thinker to state the

41.

policy science concept in Political

Science ?

(A) Max Weber

(B) John Wright

(C) L.D. White

(D) Harold Laswell

Strategic planning concentrates

(A) Extensive documentation

(B) Decision-making

(C) Fate of subunits

(D) Planners

JAN - 21318/III—B

40. TR RO Hehedioed fa=m

41.

gl ufgen faamEd

(A) Heg IR

(B) 9 =<

(C) TA.El. =R

D) Tiee Argad

o N

g s Shgfeg

TR,

(A) SATSH TEAASI R TT

(B) foig faufcor

(C) Sufayrm= yfasy

)REEISED
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42.

43.

The President of India can appoint
according to the Article 338

of the Constitution of India.

(A) Union Public Service Commi-

ssion

(B) National Commission for

Backward Classes

(®)

Minorities Commission

(D) Scheduled Caste and Scheduled

Tribes Commission

Who has said that ‘“Directive
Principles of State Policy stand for
the greatest guarantee for a genuine

democracy of India” ?
(A) M.C. Setalwad

(B) M.V. Pylee

(C) Dr. B.R. Ambedkar

(D) B.N. Rao

42.

43.

JAN - 21318/III—B

TRATS TLTA qRATT GIGEHT herd

(B) HNMHERTAMEE TS ST

(C) ATTHSAE: AN

(D) Fqyfed Sl o egyfed SHw

AN

"I AnTeRie dve TNl YRATded

CAEA AhSEIETel Fald Hidl gt

", I RO Wed I ?
(A) THE. HoER

(B) WH.I. e

(C) Tl SR TeEH

(D) S.T4. 9
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44.

45.

According to the Article of the

Constitution of India, facilities to the
Scheduled castes and Scheduled
tribes are given for the term of ten

years.

(A) 338

(B) 334

(C) 244

(D) 164

Since the enactment of Government

of India Act 1935, this term has been

generally referred to as

(A) OBC

(B) Scheduled Caste

(C) Women Empowerment

(D) Scheduled Caste and Tribe

45.

JAN - 21318/III—B

2 RS U IS 1 B s o S 1 | R

IOEEST Haordl feean Sram.

(A) 338

(B) 334

(C) 244

(D) 164

TegqHe ATk sfear 3fe, 1935 =

FAfHdTT Hremor: & STesET STt
S

(A) Aedt
(B) SAgfad St
(C) wfgen Herieho

(D) 3Tgfed Sl oAfor STt
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46. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(b)

List I
Protection of Civil Right Act

The Scheduled Castes and
Scheduled Tribes (Prevention of
Atrocities Act)

(00 Maintenance and Welfare of
Parents and Senior Citizens
Act

(d) National Commission for
Backward Classes Act

List II

(1) 1955

(2) 1989

(3) 1993

(4) 2007

Codes :

(@ (b (o (@

@ QO @ 4 3

B @O @ 3 @

<©c @ 3 L @

M QO @ 4 O3

JAN - 21318/III—B

46. T 19 =1 11 o Sz A1 @redl
fociean Sehdisqd arg S faer
gt 1
(a) TR Bk e sifufem
(b) STIgfad St i STl (TR
gicsy safefem)
(0 UIeR ST <It3 AN Q@IHE
amfor ke stfafm
(d) HFTE SAESt Ui ST sifufaa
T 11
(1) 1955
(2) 1989
(3) 1993
(4) 2007
Hehdich :
@ (o0 (d
A O @ 4 3
B @O @ @ @
< @ L @
O O @ 4 O3
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47.

48.

Most debated problem concerning

Public Sector undertakings is :
(A) Restructuring of PSEs

(B) Disinvestment

(C) Financial scarcity

(D) Greater autonomy

The main reason for the limited

success of the public enterprises in

India are :

(1) Over-capitalisation

(2) Lack of autonomy due to faulty
control

(3) Unsound and non-rational price
policy

(4) Lower wutilization of the

production capacities
Codes
(A) (D), (2), (3) and (4)
(B) (2), (3) and (4)
(C) (3) and (4)

(D) only (1)

47.

48.

JAN - 21318/III—B

HTeSiieh SeHTde] Haitees faened THen

1%'01@[ s

(A) TreSIeh IUHHE TR

(B) frjdaes
(C) emf¥ier vl

(D) 31fyeh W

(2) SrogE FEETes Wl S

(3) o MU 3Tdlfcheh oA ERYI

(4) IAA gHaEn = AR
Hehdich :

(A) (1), (2), (3) =7fr (4)
(B) (2), (3) U1 (4)

(C) (3) 37for (4)

D) Haa (1)
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49. The concept of globalization is o . ..
49. SIFTfAehIshUT= HeheuAT AR Hafed
related with :
R
(A) Single state centered market
system (A) THEST el R SHawT
(B) The growth of single unified (B) THel SR SIS ST
world market
(C) HE9 Aiifeieh €I
(C) Geographical location of a firm
(D) Foreign capitalist transactions (D) faeRM el TR
50. The term Local Self Government has | 50. <oy wvmga & uftarsr @ Svmasd
been used in those countries which
W aﬁ ﬁ ............. aﬁ.
were :
(A) fowmaTshia <@
(A) Developing countries
B) fawfad Tw
(B) Developed countries (B)
(C) Under the colonial rule (C) oHTedich HIHTAMICT <l
(D) Poor countries (D) e 2
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51.

52.

53.

The 73rd Constitutional Amendment
added a new schedule to the Indian
Constitution, that is ..........
(A) 12th Schedule
(B) 11th Schedule
(C) 10th Schedule
(D) 14th Schedule

The democratic decentralisation at
the grass-roots level has been

adversely affected because of :
(A) Devolution of power

(B) Local taxation

(C) Procedural checks

(D) Discretionary grants

Before 1947 the British Raj in India

(A) a regulatory administration
(B) services administration
(C) finance administration

(D) welfare administration

51.

52.

53.

JAN - 21318/III—B

73] HEAQGEIA AT VA A
Rfere wHifas wvaE e ?

(A) 129 ufferse
(B) 119 uff3re
(C) 109 URfIre

(D) 149 TRfE™

ENIBED

(A) TU9 gL

(B) T T

(C) YfshaTcHer TSdiesun

(D) foemrrea TR

oo

1947 got wRanie fafeer Twam
7.

(A) T gemes

(B) Qa1 gImEA
(C) fo<ita g9me
(D) HAURR FIMEA
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54.

55.

What are the causes of urbanisation

in India ?
(1) Transportation facilities
Industrialisation

2)
3)

People’s growing demands of
luxurious living

(4) Population explosion
(5) Education facilities
Codes :

(A) (1), (2), (3) and (4)
(B) (2), (3) and (5)

(C) (1), (2), (4) and (5)
D) (3), (4) and (5)

Which one of the following pair is

54. 9HIdrd

JAN - 21318/III—B

YR IOM=l  hIUTdl ROl

aRd ?
(1) TBUEB Hiaen

(2) 3TENfTeRTeRTo

(8) T Tl SfaAT= St /o

~

(4) SHEEA faeme

(5) Terefum=an glaen
Hehdieh :

(A) (1), (2), (3) or (4)
(B) (2), (3) =fur (5)

(C) (1), (2), (4) for (5)

(D) (3), (4) 37T (5)

55. WITcleTdsh! HIv SISt FT Jood
not correctly matched ? w2
(A) Community Development . .
(A) THEH TdhTH hR-PH : 1952
Programme : 1952
B) M Hweam Al ;2014
(B) Ganga Kalyan Yojana : 2014 (B)
(C) Indira Aawas Yojana : 1986 (C) feu sam A ;1986
(D) Integrated Rural Development (D) TehifcAeh TrHio foepre rEfshd -
Programme : 1978 1978
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56.

57.

58.

“Administration is politics since it
must be responsive to the public

interests,” is said by :
(A) Wilson

(B) Appleby

(C) Waldo

(D) Wiedner

The POSDCORB view is criticized
because it ignores :

(A) Managerial Techniques

(B) Managerial Processes

(C) Substance of the subject

(D) Efficiency

New

Public Administration

emphasizes on :

(A) Organizational structure
(B) Bureaucratic authority
(C) Participatory processes

(D) Value-free administration

56.

57.

58.

JAN - 21318/III—B

“UIET O USRRU 3R a9 d

SHfgdiel STeeeR 3™’ 3™ S

e ?

(A) faeed
(B) 3foetsit
(C) ==l
D) fae®

N o ~ Y ~ N A ~
qixeonld glbcen[dlal [eenl encdl wld

LY

(A) HRATHT T

(B) TOATIhIT Gishan

(C) fov=me 9rRdac™

(D) HIE&H

(A) HISATHS AT

(B) TehRIEr TEmEdl

(C) TuTTt wfsha

(D) qeafaw@id JemeH
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59. Match List I with List IT and select
the correct answer from the codes

given below :
List I
(a) New Public Administration
(b) Development Administration
(0 Comparative Administration
(d) Administrative Development
List II
(1) Edward Weidner
(2) Robert Dahl
(3) Dwight Waldo
(4) F.W. Riggs
Codes
(@ (o0 (d
A 3 (1) (4) (2)
B @ 3) (2) (D
<© @ (2) 3) (4)

M @ @ 1 @)

JAN - 21318/I11—B
59. =T 19 F= I & Sfesan 01 i
feoiedn Hehdierigd g I e .
T 1
(@) o IhIIEA

() fomm gemEA

(0 qAIcHS TRMEA
(d) wemEeh faehm
it 11

(1) Teae e
(2) Uk @A
(3) EarEe el
(4) The=g. o5
Hehdich :

@ (b (o (@
Aa @ @ 4 @)
B @ O3 @ @
<© O @ 3 @

D 2 @ GO )
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60.

61.

In which of the following is not

common in public and private

administrations ?

(A) Filing

(B) Managerial techniques

(C) Scope and complexity

(D) Accounting

Which one of the following elements

is ignored by the classical theory ?

(A) Formal structure

(B) Managerial techniques

(C) Informal patterns

(D) Principles of organisation

60.

61.

JAN - 21318/III—B

EciTeTeh! ShIUTd RIS 30T SIrsit

qIMEAd SR AT ?

(A) TR

(B) SHeRATIHA T

(C) == 3T SAfeeran

(D) TR

EATeTUeh! ShivMd o JRUNeh FHgiagr

Iufeq e ?

(A) MT=nfier S

(B) SHeRAMThIT T

(C) FT=ieh Tgdr

(D) HEea=t a
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62.

63.

Assertion (A) : There cannot be an

organisation without hierarchy.

Reason (R) : Organisation involves
a group of people amongst whom
work is divided.

Answer the question using the codes

given below :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1s not correct

(C)
(D)

The principle of unity of command

was rejected by :
(1) F.W. Taylor
(2) Seclor Hudson
3)
(4) Herbert Simon
Codes :

(A) (1), (3) and (4)

(B) (1) and (4)

(C) (1), (2) and (3)

(D) (1), (2), (3) and (4)

J.D. Millet

62.

63.

JAN - 21318/I1I—B
faeam A) : AR WRiFEE e
3TY WA TR

HIUT (R) : G&T B T HEat e
S 1 SATHEY ShTHTET TAITOR Shedt ST

PO
(A) (A) 9 (R) 3=l sRIeR 3TRd Ul
(R) T (A) T T TIRH TR

-~

(B) (A) T (R) ST s 3Ted, W
(R) & (A) = 3TTh TR RN

(C) (A) T SR 318, 90 (R) B I
I

(D) (A) T I 3R, 997 (R) & s
3T

TR Tehdl § d<d WIcileTdehl Shivil
qARRA  ?

(1) ThSxY. R

(2) TR TSEA

(3) .2t figer

(4) B WA

Hehdiah :

(A) (1), (3) =fur (4)
(B) (1) =nfor (4)

(C) (1), (2) =i (3)
D) (1), (2), (3) U (4)
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64.

65.

The most important means of

co-ordination is :

(A) Hierarchy

(B) Consultation

(C) Planning

(D) Centralised Housekeeping

Agency

The essence of scalar principle

is :

(A) Unity of Command

(B) Span of Control

(C) Communication

(D) Co-ordination

64.

65.

JAN - 21318/III—B

qA-=ATd Haid HEwegul HIEH hivd

e ?

(A) TEEMH

(B) HeoHEAd

(ORERISE]

(D) SfEYd Teded  AehTo

(D) "H<I
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66. Match the List I with List II and
select the correct answer by using

the codes given below :

List I
(a) Chester Barnard
(b) Henry Fayol
(¢ Herbert Simon
(d) Chris Argyris

List II
(1) Organisation and Innovation
(2) Zone of indifference
(3) Gangplank
(4) Bounded rationality
Codes :

(@ (o0 (d

A @ (2) 3) (4)
B) (@) 3) (4) (1)
< O 4) (1 (2)

® @ O @ 3

JAN - 21318/111—B
66. T I Grerd F= 11 Jeda A1 Wieftel
Hfgdgqa I W feen .
e 1
(a) ==X T
(b) = HArE
(¢ @S HEFA

(d) fwa TR

e 11
(1) Ged anfor Frferoergotar
(2) SeIETa &
(3) Tk
(4) fofga arfesran
Hehdieh :

@ W (© @
a o @ @G @
B @ G @ O
© B @ O @

M @ @ @ 3
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67.

68.

69.

Find the odd one out :

(A) Human relations theory

(B) Structural theory

(C) Socio-economic theory

(D) Humanistic theory

Highly coordinated centralised
administrative system is attributed

to :

(A) USA

(B) UK

(C) India

(D) UK and India

The ‘Gangplank’ refers to :

(A) Discipline

(B) Initiative

(C) Equity

(D) Level jumping

67.

68.

69.

JAN - 21318/II1—B
frAfafedqs T faama sfesen :

(A) 9Fd ey fgga

(B) H=THes fagd

(C) wHIfSeh-aTfefer fagia

(D) AFaaER! g

AR FHEIT Hhigyd TR
LA HAY @A

R,

(A) T T S (F.THT)
(B) I foed (TH)

(C) ¥rd

(D) forea enfor wrRa (b 3mfor wRa)
TTeteR | AR Getud TR

(A) fera

(B) Terhi

(C) §wa

(D) &R A
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70. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(b)
(©
(d

(D

2)
3)
(4)

List I

Frederick Taylor

Abraham Maslow

Chris Argyris

Frederick Herzberg

Management by Integration

List II

and self-control

Two-factor theory

Reward theory

Need theory

Codes

(A)
(B)
()

(D)

(a)
(1)
3)
(2)
(4)

()
(4)
(4)
(1)
3)

(0
(2)
(1)
(3)
(1)

(d)
3)
(2)
(4)
(2)

JAN - 21318/III—B

70. F= 1 Hied =T Seoa 01 @iredte
Hfgaqd 9 s faer

et 1
(a) el R
(b) SEd A&l
(o Towru emifm
(d) Hhele gster
it 11
(1) THHR §  EEAEAomema

EELSZER]
2) feeres fagm
(3) uifkdiftes fagia
(4) T fag@
Hehdieh :

@ (o0 (d
@ O @ @ O
® & @ @GO @
e @ O & @

M @ 3 1 @
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71.

72.

73.

Which is the last step of Prismatic

society ?

(A) Neo-Prismatic
(B) Ortho-Prismatic
(C) Eo-Prismatic
(D) Bio-Prismatic

Who said, ‘British Constitution is a
child of Wisdom and Chance’ ?

(A) Litton Strechy
(B) Margaret Thatcher
(C) Winston Churchill
(D) Edward Dicey

“Differentiation and integration are
two key elements in the process of
development” is the assumption

of :

(A) Classical theory
(B) Neo-classical theory
(C) Ecological theory

(D) Incremental theory

71.

72.

73.

JAN - 21318/III—B

ATAR I HE=1 3ifdd 9= Shiordl
AR ?

(A) aN-AeThia
(B) sTei-dretshia
(C) sAi-<leTed
(D) sRI-WewE

foreTeT TSEe & SR ST Heft
AT MR’ 3 HIVN WA M ?

(A) e =i

(B) AR #f=R
(C) foea =fda
(D) Teae e&t

faermereor emfor iRt § fawm
gfsRaa I @ Few STRd’ STef
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74.

75.

Pay fixation in UK is done on the

basis of :

(A) Index Number System

(B) Increased Productivity Index

(C) Performance rating

(D) Priestley formula

Which one of the following is the US
President’s principal staff agency in
fiscal, legislative and administrative

management ?

(A) The Executive Office

(B) Office of Management and

Budgeting

(C) White House Office

(D) Office of Administration

74.

75.

JAN - 21318/III—B

9. (Fee) mfw A fRed @

(A) = HAR TS

(B) ScUGehdl @ g

(C) fTodreeshar AR

(D) W& hiHe

TqShINE, dufes  Tfor USRI

HEATIA ST (F.TH.) TTALEN

WeteAleh] AMYRTO hRRa 39 :

(A) FEFH HEfe™

(B) IIEATYH 3107 SASTSTUSIh T ShATeT

(C) =ES TTHY HEd

(D) URTHHIT HIATAT
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ROUGH WORK
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